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2017 July Cisco Official New Released 300-115 Dumpsin Lead2pass.com! 100% Free Download! 100% Pass Guaranteed! Are
you struggling for the 300-115 exam? Good news, L ead2pass Cisco technical experts have collected al the questions and answers
which are updated to cover the knowledge points and enhance candidates' abilities. We offer the latest 300-115 PDF and VCE
dumps with new version VCE player for free download, and the new 300-115 dump ensures your 300-115 exam 100% pass.
Following questions and answers are al new published by Cisco Official Exam Center: http://www.|ead2pass.com/300-115.html
QUESTION 390Which feature do you implement so that an interface enters the root inconsistent state if it receives a superior
BPDU?A. DPDU filterB. root guardC. BPDU guardD. loop guardAnswer: B QUESTION 391In which two ways can a port
respond to a port-security violation? (Choosetwo.) A. The port enters the en-disabled stateB. The Security Violation counter is
incremented and the port sends an SNMP trapC.  The Security Violation counter isincremented and the port sends acritical syslog
message to the consoleD. The port triggers an EEM script to notify support staff and continues to forward traffic normallye. The
port immediately beginsto drop all traffic.F. The port enters the shutdown state. Answer: AF QUESTION 392Which three
functions does Dynamic ARP Inspection perform with invalid IP-to MAC address bindings? (Choose there.) A.  acceptsB.
deletesC. discardsD. bypassesE. interceptsF. logs Answer: CEF QUESTION 393Which two statements about 802. Iq are
true? (Choosetwo) A. It encapsulates the original Ethernet frame and addsaVLAN identifier.B. It increases the maximum size
an Ethernet frame to 1094 bytes.C. ItisaCisco proprietary protocol.D. When It isenabled, it forces arecalculation of the frame
check sequencefield.E. It supports 8-byte VLAN identifiers.F. It adds a32-bit field to the Ethernet frame between the source
MAC address and length fields. Answer: BE QUESTION 394A physical switch port is part of an EtherChannel group. What
happenes while the same port configured as a SPAN destination? A.  The port forwards traffic in the EtherChannel group and acts
as a SPAN source simultaneously.B.  The port is removed from the EtherChannel group.C. The port is put in the errdisabled state
and can only be reenabled manually.D. The operation is not allowed as an EtherChannel member cannot be a SPAN source port.
Answer: D QUESTION 395Which two statements about CDP are true? (Choose two.) A. CDPusesaTLV to advertise the native
VLANB. CDPisnot supported with SNMPC. CDP s supported on Frame Relay sub interfaces.D. CDP runs on OS| layer 2E.

CDPrunson OSl layer 1 Answer: AC QUESTION 396Which two combinations of Ether Channel modes support the formation of
an EtherChannel? (Choosetwo.) A. desirable, passiveB. desirable, desirableC. active, passiveD. passive, passiveE. active,
desirable Answer: BC We ensure our new version 300-115 PDF and V CE dumps are 100% valid for passing exam, because
Lead?passisthetop IT certification study training materials vendor. Many candidates have passed exam with the help of
Lead2pass's VCE or PDF dumps. Lead2pass will update the study materials timely to make them be consistent with the current
exam. Download the free demo on Lead?pass, you can pass the exam easily. 300-115 new questions on Google Drive:
https://drive.google.com/open?id=0B3Syig5i8gpDUFIySDhBLWIPcmc 2017 Cisco 300-115 exam dumps (All 401 Q& As) from
Lead?pass. http://www.lead?pass.com/300-115.html [100% Exam Pass Guaranteed]
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